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Multiplication of 5

1 five 2 fives 3 fives 4 fives 5 fives 6 fives 7 fives 8 fives 9 fives

5 10 15 20 25 30 35 40 45

5×1＝51×5＝5 one five is five

5×2＝102×5＝10 two fives are ten 

………
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5×1＝51×5＝5 1  five
5×2＝10

5×3＝153×5＝15 3  fives

5×4＝204×5＝20 4  fives

5×5＝255×5＝25 5  fives

5×6＝306×5＝30 6  fives

5×7＝357×5＝35 7  fives
5×8＝408×5＝40 8  fives
5×9＝459×5＝45 9  fives

2×5＝10 2  fives



Memorize:

1×5＝

5×2＝

5×5＝

5

10

25

３×5２０５×６８×5３５９×5４０２×5３０４５４×5１5
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Derive:

4×5＝

5×5＝

6×5＝

20

25

30

－5

9×5＝

5×10＝

45

50

－5

10×3＝

5×3＝

30

15
half half

＋5

请学生上来 手掌游戏
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Exercise 1:
Write the number sentences and calculate.

4×5＝20
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Conclusion:
The products:

0,5,10,15,20,25,30,35,40,45,50

The number at the ones place of each number is 5 and 0,
which alternate with each other.

The difference between the adjacent numbers is always 5.
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Challenge:
What number does each shape stand for?

(1)If △× △ ＝25 , and △× ＝50 ,
then △ ＝(        ) , and ＝(       ) .5 10


